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Logfile:ga2.clog
[ BCAST [l SENDRECV

N A UNhAE W=

0 0.277020 0.554041 0.831061 1.108082 1.385103 1.662123  1.939144
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0000000 0Omped00C0O0OODOOOOUODOOO0O0ODODOODODOOODOOODOOOOO bash_profiled

[export DISPLAY=192.168.6.%:0.0 ]
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3 MPIOOOODOOO

MPIOOOOOOOODOOODOOOOOOOOOOODbDOoOoOOOobDOoOOObOObOODbOObObOObObOObOOo0ooOo
00000 -llmpe -lmpe -lpmpich00 3000000000000 0000O0O0OCDOO0OOOga.cppOO0OODOO
gbooobobooooooboo

[$ mpiCC -llmpe -lmpe -lpmpich -o ga ga.cpp ]
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C$ mpirun -np 4 ga ]
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gboooooooobooo
O0000O00ooooDDlogviewerDOOOOODODOOO

[$ logviewer ga.clog ]

ooooood

Logfile:ga2_4_loadHigh.clog
[ BCAST [l SENDRECV

W=
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Fig.3 00000000 gaOD00O

gboooboobooboboobooboobooooOoboboobooobOoooobooboboobooobobobooOon
000oU0oO0o0o0o00 (o000 o000 0U0000OLOO0U0UOUOOL)D0DOU (OUDOUOoOooD)ooo
00000000 MPIBarrierDODOODODOOODOOO0DOOOFig. 40000000000000D0O0OOOO
gooo



e
=
i)
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[ | BARRIER [ BCAST [l SENDRECV

555010 29

0 0.760037  1.520074 2.280111 3.040148  3.800185
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MPEOOOMPIOOOOODOODOODOOODOOOOOOOOOOOOO MPEODODOODDOODODDOODOOO
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Logfile:ga2_op_l.clog

[ ]init [ selec [l mig [ ] cross [l mut [ |retE [ ]eval
[ prn [ BCAST [l SENDRECV

0 — g B -l B - Bn

1 e N N -l W

2+ — HE ‘BB -l N

3 —-ﬁ | ] -l B -l n
| |

0 0.015791  0.031582  0.047374  0.063165  0.078957
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00000000000 Fig. 500000000000000000O0O00UO0OOOO0O00O0OOO func();O
gbobooboobooooooobooooooo

~
void main (int argc,char *argv[]){
MPI_Init(&argc,&argv);
func();
MPI_Finalize();
}
N J

ooo0D0O0O0o0o0DO00bDO0000DbO0O 0000 mpehD00O0DOOO0DOOOODOODOOOOOOODOOOODO
O0O000DOO00O0OMPE LogeventDOODOO



#include "mpe.h" [/ <===————mm
void main (int argc,char *argv[]){
MPI_Init(&argc,&argv);
MPE_Log_event(evl, 0,"func_start"); [/ <———————————
func();
MPE_Log_event (ev2, 0,"func_end"); /] <———————————
MPI_Finalize();
k} /
O0O0OO0OOMPELogevent 0000 200000000300000000000000000O0O (00O QO logviewer

O0000000) 0001000000000 00000000000000 0 MPE_Log_get_event_number 00O
goooooooooo

~
#include "mpe.h"
void main (int argc,char *argv[]){
MPI_Init (&argc,&argv);
int evl,ev2;
evl=MPE_Log_get_event_number(); // <--—---—-=-—-———————-
ev2=MPE_Log_get_event_number(); // <------—---—-———————-
MPE_Log_event(evl, 0,"func_start");
func();
MPE_Log_event (ev2, 0,"func_end");
MPI_Finalize();
k} J

OO0Ologviewer U0 OO00OO0O0O0O0O0O0O0O0O0O0O00O MPEDescribestate 0 0000000000 OlogO0O
OoooooooO0 MPEStartlogO OO O

~
#include "mpe.h"
void main (int argc,char *argv[]){
MPI_Init(&argc,&argv);
int evl,ev2;
evl1=MPE_Log_get_event_number () ;
ev2=MPE_Log_get_event_number () ;
MPE_Describe_state(evl,ev2,"func","red"); // <-————---------—————-
MPE_Start_Log(); [/ <=—=m—mmm e
MPE_Log_event (evl, 0,"func_start");
func();
MPE_Log_event (ev2, 0,"func_end");
MPI_Finalize();
k} J

MPE Describestate 00000 0000000000000 O0O000DOO0O0OOO0O0O0O0O0OO0DODOOOOOOO
ooo0o0ooooooOo0oU0OoOoDO0oO0oO0O0 GAoO MPEOOOOODOOOOOOOOODOOOODOODOODOOO

0000 (o000 MPELogevent 00 MPEOOOOOOOOO)DOUOODOOOOOOOUOOODOFig 50
goo



@o)
for (i=0;i<16;i++)
ev[i]=MPE_Log_get_event_number(); // 0000 D0OO0O00D

MPE_Describe_state(ev[8],ev[9],"mut","red"); // 00000000
MPE_Describe_state(ev[10],ev[11],"retE","white"); // 0O 0O0O0O0O0OO
MPE_Describe_state(ev[12],ev[13],"eval","pink"); // 00000000
MPE_Describe_state(ev[14],ev[15],"prn","gray"); // 00000000
MPE_Start_log(); //0000
MPE_Log_event (ev[0],0,"st_init"); //init 00000
Individual *pop = NULL;

initialize_pop(&pop, pop_size, glength);

Individual *elite = NULL;

initialize_pop(&elite, num_elite, glength);

evaluate(pop, pop_size);

MPE_Describe_state(ev[0],ev[1],"init","gray"); // 00000000
MPE_Describe_state(ev[2],ev[3],"selec","green"); // 00000000
MPE_Describe_state(ev[4],ev[5],"mig","blue"); // 00000000
MPE_Describe_state(ev[6],ev[7],"cross","yellow"); // OO0 O00O0O00O

MPE_Log_event (ev[1],0,"ed_init"); //init 00000
for(g = 0; g < max_generation; g++){
int 1i;
input_elite(pop, pop_size, elite, num_elite);
MPE_Log_event (ev[2],0,"st_sel"); //select DO O OO
select (pop, pop_size);
MPE_Log_event (ev[3],0,"ed_sel"); //select OO OO0
if (g % send_interbal == 0){
MPE_Log_event (ev[4],0,"st_mig"); //Migrate 00000
imigration(pop, pop_size, send_pop, glength, myid, island);
MPE_Log_event (ev[5],0,"ed_mig"); //Migrate 0000
}
MPE_Log_event (ev[6],0,"st_cro"); //Crossover OO OO
crossover (pop, pop_size, crossrate);
MPE_Log_event (ev[7],0,"ed_cro"); //Crossover U0 OO
(oo
}
oooo

_ /
Fig. 60 GAOOOOO 5000000000000000000000O00 (selection)IZIDDIZIDIZIDIZID (retE)
O0o0o0d00d0doooooooooooooog

Logfile:ga2_op_add.clog

init [ selec [l mig [ | cross [l mut [ |retE [ ]eval
[ |prn B BCAST [l SENDRECV

5w -
0 N | - O
O N ﬁ O
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Logfile:test3.clog
I Send,Recv ] Sendrecv [} ISend,IRecv [ | Gather,Scatter

[ ] Beast,Gather

0 I
1 I
2 -~ IS

0 0.230809 0.461619  0.692429  0.923239  1.154049
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I Send,Recv ] Sendrecv [Ji] ISend,IRecv [ | Gather,Scatter

[ ] Beast,Gather

0 0.700810 1.401620 2.102430 2.803241  3.504051

Fig. 8 90 0O0O0O0OO
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